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[ 1 SD=0.1 10]
1.1
y1 X2 X3
0.799927| 0.272326| 1.180682
1.522283| 0.940516f 1.900295
1.159383| 1.225517| 1.223185
0.785036| 0.228133| 1.318295
1.255578| 0.921252| 1.401656
0.015587| 0.038455| 0.089338
0.780438 0.09085| 1.808694
0.991108| 0.663403 1.60357
1.535766| 1.700644| 1.085293
0.753092| 0.450312| 1.087784
1.2 1 (
1 S X2 Sz X3
)
R2 0.959347
R2 0.954266 S2 0.600554
LogL 10.40092 S3 0.449255
AlIC -16.8018
F 598.2733
1.3 X2
Xz =03z X3 g1 1
R2 0.928505
R2 0.919568 Q3 -0.66351
LogL 5.659799 Q1 1.550104
AlC -7.3196
F 142.3444
1.4 Xs
X3 =ra 1 r s Xs
R2 0.849255
R2 0.830412 R1 2.120461
LogL 2.641936 R2 -1.21332
AlC -1.28387
F 209.4028
1
Excel CD-ROM
[ SD=0.2 10]
.1
y1l X2 x3
1.077328 0.61366 1.02266
1.411968| 1.174106| 1.966687
1.160696| 1.320264| 1.257742

0.693732| 0.737624| 0.711238
1.142891| 0.629331| 1.487681
0.689625| 1.084647| 0.940201
0.3428| 0.741497| 0.131938
0.319057 0.66318| 0.184995
1.692534| 1.509608| 1.258972
0.821993| 0.278817| 0.784737
.2 1 (
1 S X2 Sz X
)
R2 0.783765
R2 0.756736 S2 0.363206
LogL 2.105727 S3 0.618578
AlIC -0.21145
F 105.5531
.3 X2
X2 =0z X3 Ja 1
R2 0.150143
R2 0.043911 Q3 -0.17271
LogL -3.17505 Q1 1.044324
AlC 10.35009
F 28.44248
4 X
X3 =ra 1 r s Xs
R2 0.750063
R2 0.71882 R1 1.147086
LogL -0.98205 R2 -0.11139
AlIC 5.964106
F 65.33296
[ $D=0.3 10]
.1
y1l X2 x3
0.708919| 1.177332| 0.999876
0.422585| 0.111447| 0.945352
1.428232| 1.791184| 1.639336
0.572781 0.68221| 0.405321
0.809303| 0.141181| 0.963159
0.810158| 0.625822 0.62265
1.387277| 1.987092| 1.652146
0.947053| 1.103216| 1.109884
1.120358| 1.551023| 1.016003
1.018029 0.89314| 1.953137
9.224696| 10.06365| 11.30686




.2 1 (
1 S X2 Sz X
)
R2 0.687496
R2 0.648433 S2 0.370417
LogL 3.322923 S3 0.448997
AlIC -2.64585
F 121.796
.3 X2
X2 =0z X3 g1
R2 0.672288
R2 0.631324 Q3 -0.29039
LogL -3.67391 Q1 1.501165
AlIC 11.34782
F 41.39019
4 X3
X3 =ra 1 r s Xs
R2 0.524086
R2 0.464596 R1 1.478633
LogL -2.63636 R2 -0.23598
AlC 9.272727
F 55.95467
[ SD=0.1 10]
.1
y1l X2 X3
1.14459| 1.678746| 1.386408
1.648651| 0.006787| 1.081236
1.361292| 1.744129| 1.515148
0.688341| 0.559845| 0.661683
1.682724| 0.879641| 1.377965
1.223719| 1.580986 1.28553
1.715482| 1.851884| 1.773387
1.422716| 1.975886] 1.601328
-0.42966| 1.693294 0.26461
-0.54379| 1.830748] 0.196023
.2 1 (
1 S X2 Sz X
)
R2 0.995507
R2 0.994945 S2 -0.48649
LogL 15.14461 S3 1.486744
AlC -26.2892
F 2274.515

.3 X2
X2 =03z X3 Ja
R2 0.970258
R2 0.96654 Q3 3.019515
LogL 8.030834 Q1 -2.01822
AlC -12.0617
F 779.0698
4 X
X3 =ra 1 r s Xs
R2 0.995399
R2 0.994824 R1 0.670600
LogL 19.12546 R2 0.328299
AlIC -34.2509
F 4753.882
[ $D=0.2
.1
y1l X2 X3
-0.44576 0.60173 0.0169
-0.25675 0.96138| 0.135491
2.339178| 0.943019| 1.811113
2.204062| 1.773296| 1.966714
1.054625| 1.353308] 1.260157
0.395483| 1.426361| 0.713851
0.297038] 1.033712| 0.505325
1.668765 1.63253| 1.496115
0.751346| 0.516472| 0.689999
0.755221| 0.293071| 0.672047
.2 1
1 S X2 Sz X
)
R2 0.983917
R2 0.981906 S2 -0.50811
LogL 7.457907 S3 1.552579
AlC -10.9158
F 477.8575
.3 X2
Xz =03 X3 ga 1
R2 0.802521
R2 0.777836 Q3 2.71563
LogL 1.551016 Q1 -1.65585
AlC 0.897967
F 119.6535




.4 Xs3

X3 =ra 1 r s Xs
R2 0.986935
R2 0.985302 R1 0.630761
LogL 11.96163 R2 0.338545
AlC -19.9233
F 944.0377
[ : SD=0.3 10]
.1
y1l X2 X3
2.04141| 1.102386| 1.738426
1.626164| 1.506913| 1.819552
2.071978| 0.181323| 1.198183
0.814243| 1.705592| 1.041936
1.671339| 1.791769| 1.387789
0.486571 1.69991| 1.237314
1.297347| 1.156789| 1.248405
0.886344| 1.280162| 0.896144
0.037247| 1.621847| 0.578406
3.484119| 0.030884| 1.732367
.2 1 (
1 S X2 Sz X3
)
R2 0.869114
R2 0.852754 S2 -0.73991
LogL -3.28139 S3 1.78812
AlC 10.56277
F 100.2245
.3 X2
X2 =03 Xs g1 1
R2 0.569027
R2 0.515156 Q3 2.00569
LogL -4.80212 Q1 -1.00292
AlIC 13.60425
F 43.42185
.4 X
X3 =ra 1 r s Xs
R2 0.76592
R2 0.73666 R1 0.527623
LogL 2.821309 R2 0.436617
AlC -1.64262
F 212.3033
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